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EDUCATION — HONOURS — PRACTICAL
Paper : CC-12P
(Statistics)
Unit - 4
Full Marks : 30

Candidates are required to give their answers in their own words
as far as practicable.
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51 Score
65-69
60-64
55-59
50-54
45-49
40-44
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65-69
60-64
55-59
50-54
45-49
40-44
35-39
30-34
25-29
20-24
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|English Version]
The figures in the margin indicate full marks.

1. Score
65-69
60-64
55-59
50-54
45-49
40-44
35-39
30-34
25-29
20-24

(a) Calculate Mean and Median of the above distribution. Based on the result, comment on the nature
of the distribution.

(b) Calculate standard deviation of the above distribution. (2+2+1)+5
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EDUCATION — HONOURS — PRACTICAL
Paper : CC-12
(Unit - 4)

Statistics (Practical)
Full Marks : 30

Candidates are required to give their answers in their own words
as far as practicable.
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25 80 83 39 65 69 64 73
37 62 53 62 73 55 77 48

52 54 62 75 85 57 56 53
50 84 39 42 79 48 49 29

45 34 68 73 32 89 78 21
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Scores f
45 — 49 4
40 — 44 17
35 -39 8
30 — 34 6
25 - 29 8
20 - 24 4
15— 19 2
10 - 14 I
N =50
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A:44 80 76 48 52 72 68 56 60 64

B:48 75 54 60 63 69 72 51 57 66
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[ English Version |
The figures in the margin indicate full marks.
1. The following are the scores obtained by 40 students in an achievement test :
25(80(83 39 65 69 64 73
37 62 53 62 73 55 77 48
52 54 62 75 85 57 56 53
50 84 39 42 79 48 49 29
45 34 68 73 32@78 21

(a) Tabulate the scores into a frequency distribution using class interval of 10 units starting from the
score 20.

(b) Calculate the Mean, Median and Mode of the above distribution.

(c) Draw a Bar-graph, comparing the values of the Mean, Median and Mode. 2+(2+2+1)+3
2. (a) Draw a frequency polygon from the following distribution :

Scores f (})

45 — 49 4 {
40 — 44 17

35 -39 8

30 - 34 6

25 -29 8

20 — 24 4

15-19 2

10 — 14 1

N =50

(b) Comment on the shape of the distribution, on the basis of the frequency polygon. o )
(¢) Calculate the Standard Deviation of the above distribution. Lj)

(d) Draw a scatter diagram from the following data :

A:44 80 76 48 52 72 68 56 60 64 2)
B:48 75 54 60 63 69 72 51 57 66
(e) Comment about the scatter diagram. Li) \ 3+1+3+2+1
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following are the scores obtained by 40 students in an achievement test
25 80 83 39 65 69 64 73
37 62 53 62 73 55 77 48
52 54 62 75 85 57 56 53
50 84 39 42 79 48 49 29
45 34 68 73 32 89 78 21

Tabulate the scores into a frequency distribution using class interval of 10 units starting from the
score 20.

Calculate the Mean, Median and Mode of the above distribution.

Comment on the shape of the distribution on the basis of the calculated values of Mean, Median
and Mode. 3+(2+2+1)+2

Calculate Standard Deviation from the above distribution.
Describe the nature of the distribution based on the calculated value of Standard Deviation.

What is a Scatter Diagram? Explain how the association between two variables can be determined
using it. 4+1+(2+3)
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